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0,38

1. 0+000 0,215*11*11*2 52,0 (2*3,14*11/2-2*11)*1 12,5 4,8

2. 0+035 0,215*11*11*2 52,0 20+30+20 70,0 26,6 600,0 20*30+2R11

3. 0+330 132,0

4. 0+420
(0,215*11*11*2+(

11+10)*3,5)*2
251,1

((2*3,14*11/2-

(11+5+11)+(10*2))*2
55,1 20,9

5. 0+630 132,0

6. 0+810
(0,215*11*11*2+(

11+10)*3,5)*2
251,1

((2*3,14*11/2-

(11+5+11)+(10*2))*2
55,1 20,9

7. 0+930 132,0

8. 1+170 132,0

9. 1+210
(0,215*11*11*2+(

11+10)*3,5)*2
251,1

((2*3,14*11/2-

(11+5+11)+(10*2))*2
55,1 20,9

10. 1+420
(0,215*11*11*2+(

11+10)*3,5)*1
125,5

((2*3,14*11/2-

(11+5+11)+(10*2))*1
27,5 10,5

11. 1+470 132,0

12. 1+620
(0,215*11*11*2+(

11+10)*3,5)*2
251,1

((2*3,14*11/2-

(11+5+11)+(10*2))*2
55,1 20,9

13. 1+770 132,0

14. 2+020
(0,215*11*11*2+(

11+10)*3,5)*2
251,1

((2*3,14*11/2-

(11+5+11)+(10*2))*2
55,1 20,9

15. 2+070 132,0

16. 2+370 132,0

17. 2+410
(0,215*11*11*2+(

11+10)*3,5)*2
251,1

((2*3,14*11/2-

(11+5+11)+(10*2))*2
55,1 20,9

18. 2+600 132,0

19. 2+678
(0,215*11*11*2+1

1*3,5)*1
90,5

((2*3,14*11/2-

(11+5+11))*1
7,5 2,9

20. 2+800
(0,215*11*11*2+(

11+10)*3,5)*2
251,1

((2*3,14*11/2-

(11+5+11)+(10*2))*2
55,1 20,9

21. 2+850 132,0

22. 3+100 0,215*11*11*2 52,0 20+30+20 70,0 26,6 600,0 20*30+2R11

23. 3+168 0,215*11*11*2 52,0 (2*3,14*11/2-2*11)*1 12,5 4,8
24. 3+168 40*3,5 140,0 R

3 168 2 321,6 585,7 222,6 1 320,0 1 200,0
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